WALKER’S ASSESSEMENT TEST (WAT)

Concepts of Numbers & Computations

Select the best answer.  If the correct answer is not given, then choose NH.

1)
Which number is nine thousand thirty-seven?

a.
9370

b.
90037

c.
93700

d.
9037


e.
NH

2)
Which number is twelve thousand, six hundred thirty-nine?

a.
120639

b.
126390

c.
12690

d.
12639


e.
NH

3)
Eight thousand four hundred twenty is the same as:

a.
80420

b.
8420

c.
8430

d.
84200


e.
NH

4)
7 thousand, 6 hundred and 2 ones is the same as:

a.
7620

b.
70602

c.
7602

d.
70620


e.
NH

5)
563 X 1000 =


a.
5620

b.
56300

c.
50063

d.
563000


e.
NH

6)
(4 X 1000) + (3 X 100) + (6 X 1)


a.
4301

b.
4000306
c.
4306

d.
4360


e.
NH

7)
Which numeral has a 7 in the hundreds place and a 6 in the ones place?


a.
63274

b.
19736

c.
45627

d.
26547


e.
NH

8)
What is the value of the 2 in the numeral 82,605?


a.
20

b.
200

c.
2605

d.
2000


e.
NH

9)
Round 953¼  to nearest ten.


a.
960

b.
955

c.
970

d.
963


e.
NH
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10)
Round 6572½  to nearest hundred.


a.
6672

b.
6500

c.
6000

d.
6600


e.
NH

11)
Which number is 1000 more than 15729?

a.
16829

b.
16729

c.
16829

d.
25729

e.
NH

12)
Which number is 100 less than 8473?


a.
7473

b.
8373

c.
7373

d.
7363


e.
NH

13)
Which number is greater than 315,500 and less than 375,500?


a.
395,000

b.
320,000

c.
315,099

d.
309,999


e.
NH

14)
Arrange the numbers from least to greatest and identify the middle number.


596, 584, 547, 568, 571


a.
596

b.
584

c.
547

d.
568


e.
571

15)
Which part of the region is shaded?

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	


a.
3 /4

b.
1 /2 

c.
5 / 16

d.
2 / 5

e.
NH
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16)
Name the part or the set that are circles in simplest form.
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a.
1/4

b.
1/3

c.
2/3

d.
1/2

e.
NH

17)
Which fraction is the greatest?


a.
2/3

b.
1/2

c.
3/4

d.
5/8


e.
4/5

18)
Reduce 18/30 to simplest form.


a.
6/15

b.
2/5

c.
3/5

d.
4/5


e.
NH

19)
Choose the sign to make the statement true. 10034    ?
10346


a.
>

b.
<

c.
=

d.
(
e.
NH

20)
Which sentence makes the statement true?
875
X  ? = 875


a.
0

b.
10

c.
100

d.
1


e.
NH

21)
594 + 316 = 316 + ?


a.
594

b.
2 X 316
c.
910 (2

d.  316 X 2


e.
NH
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22)

 432

                     +
 748


a.  11,180

b.  12,180

c. 1,280




d.  1180

e.   NH

23)


64



          795



      +4832


a.  4691

b.  5691

c.  5591



d.  5681

e.  NH

24)                  David has three times as many marbles as Harry.  If Y equals the number   

                       of marbles David has, which expression shows the number of marbles   

                       Harry has?



a.  Y ( 3

b.  Y + 3

c.  3  ( Y



d.  Y x 3

e.  NH

25)

Which number has the greatest value?



a.  189.09

b.  189.21

c.  189.54



d.  189.15

e.  189.6

26)

The product of 62 and 98 is about.



a.  500


b.  5000

c.  6000



d.  6500  

e.  NH

27)


7463




-684


a.  6769

b.  8147

c.  6779


 

d.  7221

e.  NH

28)

The difference between 1035 and 693 is about.


a.  300


b.  400


c.  500



d. 1700  

e.  NH
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29)
Complete the following table.



x       
8



2       
16



3
24



4
?



5
40



a.  32

b.  30

c.  12

d.  48  

e.  NH

30)

The sum of 643 and 978 is about.



a.  1600
b.  1700
c. 1500

d.  1400
e.  NH

31)

463 X 30 = ?



a.  13980
b.  14890
c.  13990
d.  13,890
e.  NH

32)

82.1  +  .35 = ?



a.  117.1
b.  82.356
c.  82.135
d.  82.36
e.  NH

33)

48+(37 + 16) = (? + 37) + 16




a.  28

b.  48

c.  51

d.  64  

e.  NH



34)

Which division sentence is the inverse of 21 X 29 = 609



a.  29(21 = 609
b.  21(609 = 29
c.  609(29 =21


d. 21(29 = 609
e.  NH

35)

293 ( 7 = ?



a. 41

b.  42

c.  41 r1
d.  42  

e.  NH

36)

2/9 + 3/9 = ?



a.  5/12

b.  1/6

c.  5/6

d.  5/9

e.  NH
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37)

24(12

        +  51(12



a.  33/12
b.  75/0

c. 75/24
d.  75/21
e.  NH

38)

18/9


         - 12/9


a.  6/0

b.  6/18

c.  2/3

d.  3/5  
e.  NH

39)

? + 164 = 298



a.  136

b.  134


c.  232

d.  144

e.  NH

40)

385 - ? = 132



a.  317

b.  243


c.  253

d.  263

e.  NH

Answer Key (Concepts of Numbers & Computation)

1.   D



21.
A

2.   D



22.
D

3.   B



23.
B

4.   C



24.
A

5.   D



25.
E

6.   C



26.
C

7.   B



27.
C

8.   D



28.
A

9.   E



29.
A

10.   D



30.
A

11.   B



31.
D

12.   B



32.
E

13.   B



33.
B

14.   E



34.
C

15.   C



35.
E

16.   B



36.
D

17.   E



37.
E

18.   C



38.
C

19.   B



39.
B

20.   D



40.
C

